Chapter 3 Test Review
Law of conservation of mass- mass is cannot be destroyed or created during chemical reaction.
Law of definite proportions- When two or more elements combine to form a compound, their masses in that compound are in a fixed and definite ratio. (e.g. NaCl is always 60.66% of Na and 39.34% of Cl by mass regardless of the size or the source of the compound)

Law of multiple proportions-When two elements form more than one compound, the different masses of one element that are combined with the same mass of the other element are in a ratio of small whole numbers. (e.g. If 2.66g of oxygen combine with 1.0g of carbon to form CO2, then 1.33g of oxygen combine with 1.0g of carbon to form CO, 2.66:1.33=1:2)
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	Theory before the experiment.

	
	Theory after the experiment: Rutherford discovered the nucleus of an atom.
Atomic Theory:

All matter is composed of atoms
Atoms cannot be made or destroyed
All atoms of the same element are identical
Different elements have different types of atoms
Chemical reactions occur when atoms are rearranged


Atomic no.=no. of protons/no. of electrons
Mass no.=no. of protons(atomic no.) + no. of neutrons.

Isotopes differ in the no. of neutrons(also differ in mass no.)
1 amu=1g/mol=1g/6.022*10^23(avogadro’s no.)=1.660540*10^-24g or 1.660540*10^-27kg.
1 mol=6.022*10^23 particles(atom).
Mass in grams / molar mass(no. of amu) = mol
mol*molar mass(no. of amu)= mass in grams
mol * 6.022*10^23 = no. of atoms 
no.of atoms / (6.022*10^23)=mol
Example:

The formula weight for H2O2 = weight from hydrogen + weight from oxygen

The formula weight for H2O2 = 2 H atoms x 1.008 amu + 2 O atom x 16.00 amu = 34.016 amu

The molar mass for H2O2 = 34.016 grams H2O2.
